SHISEE 74077 (67011 A198IRTE)

&S T B AE | BIEE | e | h
1 | RERT@mEYR) | B | AL 3,350H, 34 6
2 |BFHURI—ER) HE | AR 7,503 18 2
3 BFHT—IUTFIT)| HlE | AL 3,330 | 20 8
4 |BFED HE | AR 3,000 | 165 2
5 |BFEFQ HE | AR 3,000 | 160 1
6 |BFEERY2EEYN) | B | AL 7,666H 19 2
7 BEFEERYSEEYN) | AHE | AL 11,1118 49 6
BFER) 280 HE | A#L 1,060, 134 2
9 |BFER2RQ HE | A#L 1,000H| 171 1
10 | BFEERERDO HE | A#L 1,000 | 153 3
11 | BFEEERO B | AL -
12 \\FIIZA4=0TRK) | HE | Af 6,100, 23 8
13 | BREVERK)D HE | AR 1,020 | 37 2
14 | FrERVNA) B | AL 1,100H| 182 1
15 |[FrERYRKRE) HE | A4 -
16 |O—E—FT—7IL(A) | & | AL 1,200| 28 2
17 [a—b—F—J L) | #E | A4l 1,010 | 156 5
18 /MIAN HE | A#L 599H 140 1
19 INIBEUSAAUDED| Al | A# 3,380 73 4
20 |(RVJwiNTyHNEY) HE | AL —
21 | RV INTYI(F) HE | AL —
22 |FTRAMZ) HE | AR 3,150M| 94 6
23 | FTANMB4ER) HE | AL 1,000 | 114 2
24 | FTAME) HE | AR 3,000, 55 10
25 |FTRMFR) HE | AL 3,000 125 4
26 |FTAMIITH) HE | A#L 2,219H| 183 4
27 |FxARE)D HE | A 2,000, 194 2
28 | FTANMAKE)D HE | A 1,006 99 2
29 |FTRMAB)D HE | AH 2,500 | 92 4
30 |#l(EEEAHL) HE | AL —
31 [HL(KE) HE | AHL 2,350 | 158
32 |Hl(FrvREA—{FE) HE | AL 1,500H| 136




SHISEE 74077 (67011 A198IRTE)

&5 7 % REHE | RS s W
33 [ T—TIL(HFR) HE | AL —
34 | T—TIL(hER) HE | AL —
35 AT—TIL(E) HE | AL -
36 |[T—JIL(A) HE | AL 1,550 138 2
37 |[T—TILERYI=1=#ZF)| HE | AL 3,000 | 15 9
38 |RANILHE HE | AR 8,000M| 21 2
39 |F R+ (B HE | A#L 1,200 | 191 2
40 |RHEFURHRA) HE | AR 3,000, 170 5
41 | RH(A—T—T L) HE | AL 2,050 | 82 4
42 |TYRAVR HE | AR 2,024H| 50 1
43 |B5HE (EX) HE | AR 2,800 | 197 1
44 \BESHE(FRIGWHAS) | HE | AL —
45 |99 () HE | A#L -
46 |UNFHD TS HE | A#L —
47 XfEHLLEE HE | A#L —
48 |H(2 = tvh) HE | AR 600 | 101 2
49 |FRybDIT(FNRA) HE | A#L -
50 |RADUZYI(CITR) | & | AL -
51 |RADUS99(H) HE | A# 1,000, 80 2
52 |[RADUSYI(KRE) HE | AL —
53 |V I(5ER) A | AR 512H)| 57 2
54 |Tv7 (&) HE | A#L 500H| 145 1
55 |V I(HliS 6EX) HE | AR 1,466 51 1
56 | (KHE) HE | AR 1,100 | 150 4
57 |ZvI(HER) HE | AR 550H 119 1
58 |Zv U (BRITE) HE | A#L -
59 |B—FvERYNMIITFR)| HE | Ad —
60 |[A—FrERVR(KER)| HE | AL 5000 | 87 4
61 |ZvoTLESR HE | A#L -
62 |A—T—JILHZRE)| HE | Afl —
63 |O—T—JILEIYNS)| HE | AL 860H)| 157 1
64 |72 (FrRA—1F) | HE | AL 2,000 | 124 3
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E3
&5 7 % R | BHEE | saae | e
65 |73 (8) HE | AR 2,050 128 7
66 |73 (E)D HE | AR 1,680 | 38 1
67 |73 (H)@ HE | A#L 1,600 25 5
68 |Tv 7 (ZITH) HE | AR 2,010M| 93 6
69 |[S=Fz Rk HE | A# —
70 | FEKFS HE | AR 2,000 | 46 2




